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Choose the correct option and write in

B
your answer-pook :

A)

3599

B ™

The éndr‘rs:p':...n:'t; ‘E}r:mgiosptrmic
plant is

i}  Diploid

ii) Polyplaid,

i) Triploid

iv) dapioid. 1
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B)

4

‘Mongoloid idiocy’ occurs due to

1)

i)

iii)

iv)

Monosomy of sex-chromosomes
Monosomy of 21st pair of

éhromosgmf:s

Triso;_n_v of sex-chromosomes

Trisomy of 21st pair of

chromosomes: J
s

C} The vector of Dengue [ Break bone )

3559

fever is
by Culex
ii) Aedes
i)  Anopheles
‘\‘.‘é' -
iv] None of Lhese. 1

Genetically modified ( GM ) plant is

i)

1)

i’

iv)

Bt cotton
Bt cofn
(rolden rice
All of these. 1
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( Definite Answer Type Questions )
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What is parthenocarpv ? Explain., |

Write two salient features of genetic
- iy

code. Ll o+ L4

i =

What are the f[unctions of Leydig

cells ? - 1
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D) What type of blood group is possible
in children of a mother with blood
group ‘A and father with blood

-
group ‘O’ ? 1

E) What is sewage ? Write the main
. . .‘: . — ' - i
d]ffen;;r;.'gcx-. between pnmar}r wAnd
secondary sewage. treatment. Yo + Y4

( srfa ey IoT W )
1 Very&hort Answer TY;E Questions )
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) ared #AR fhe gm gEe Wu T D) Draw a labelled diagram of the
FoTHolo T = FogEl en =ToifsRd structure of DNA as proposed by
- - o Watson and Crick. [ No description
foa ST | (U I HAIEAT 6T 8) | . _
Is required. ) 1+1
1 +1 E) What are antibiotics ? Naime any
%) wheigm Y7 fhl & has Fele two species of fungus, which are
' ‘ e . used in the production of the -
. i~ %:_. = - . .
& = fefem, fa kil gfetieel & antibiotics. 1+ Vs
IeqIEA 1 foRT Sl § | 1+ s+ ¥ ( g e e )
S .
3. A) Explain the Mendelian ‘Law of { Short “f‘fswff__TYPe Questions )
' - 4. % FEATEH T F Jg-FHuaT-wy. ety
segregation’. 1+ 1 TR
T TV AT | 3
B) Why~is conservation of wildlife ) uafwm T W oRee W I
essential T™What sieps* have been = HEE _"“wrﬁﬁ TR Y SearenT ST
-
taken to conserve them by the EFJ] 2t 1+2
Y mﬁ‘ﬁm =fe5
government ? 1+1 g A31ZTZE aﬂaq I IZEI
_— | e m SR T Hew feifay |
C) Write about the cal'sative agent
. gent, 5
symptem  and  two  preventive T IS Mgt 29 SH F I HeE W
measures ol.dysentery. 4 x Y, Hids feaufy FATE0 | 1% + 1%
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D)
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Describe the process of double
fertilization in angiospcermic plant. 3
Define par}.ﬁenﬁgenesis. Describe
the mechanism of sex-determination
in honeybees.- 1+ 2
Exp_laii‘?f palindlromic nucleotide
sequence with cxmﬁplc and writc its
signiﬁcancefﬂ.’#. - 2+
Write aﬁrzft notes on adaptations of

desert plants dnd-afiimals.
- -

1% + 1Y%
e 7 1+ Y+ 1%

ﬁﬁ'@mﬁ%_?@é?aﬁJmamna;
I HITU | 3 x 1
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™ FEE e e ¥ 2 @ren Rl
% gF H A eERT &
AT i fAfEn | 31
) Hﬁ&ﬁlﬁm—éﬁ:{ﬂmﬁfﬁmaﬁﬁ
e Sy | 3x1

5. A] What is triple fusion ? Where and

how does it take place ? 1 + ¥ + 1%

8). -Whal s Ascariasis ?- Mention -its

prevention and cure. 3 x1

C) What is Zea@ic €ngineering ? Writes

Wwo  applications of  genetic

%
engineering in. the area of health

—

care, 3 x1

T

D)) Explain any three important
Characteristics of a population. 3 x 1
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6. A)

B)

C)

12

When a cross is madc between tal_l
plant with yeilow seed ( TtYy )and
tall plant with green seed ( Ttyy ),
what proportions of phenotypes in

the offspring could be expected to be

i) tall and greensz,

B

i) dwarf and green ? 172 + 1V2
Explain briefly the Polymerase
Cewrr’iaction (PCR). 3

Comment upon National Parks and

Sanctua e https:/www.upboardonline.com =S

D]"-Wguish between the following :

3599

1+1+1

i} Hibermaticn and Aestivation
3} Ectotherm and Endotherm
1)) Population and Community.
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( Tavga IarT wos )
( Long Answer Type Questions )

. O T T h Tee o S ®ifel |1 5
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FIRU | THEH & T H &g = ave
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Describe the mmportance of fruits and

sceds. 5

OR

Draw neat and labelled diagram of

human female reproderetive  system.
. T

Describc the unctions of anv two

-

organs of it, : 342

foi-geera @ A s wEed § o
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HERHIST 22 + 2Ya
i) EoURCTe W NIUTE Wehidds
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i) IAFES TR |

8 Wnat do yew mean by sex-linked”

characters ? Describe with the help of

Iime sketches the inheritance of two -sex-

linked ChETACLErS in man. 1+2+2

OR

Explain with E‘rag?'s_tm any two of the
fﬂllouﬁng . Yo 4 2V

i) tRNA
i) Transcriptinn unit.
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_ - e, . g e . - . ) L
SO FRAMETET 9 WO, =T U dleaE F'Tlr; 7 Write the main [eatures of 1mmune
Rizicul 2%+ 2%

response and describe active and passive
AN immunity with suitable examples.
i} T @ g1
1+2+2
i) A S e

- 348(GQ) - 1,65,000

WGTE Alsh B WP GOIAT gy ot
It SET %mr'ﬁfgﬁ N T e
F IV HIfAT | 1 +2+92
9. \i'fr'lte short notes- ru—Thy two of the
following : 2% + 2V

-il Bt crops

i) Biodiversity hotspots
11i) Human genome project.
OR
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